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Instruction ( F129T)

Answer all the questions : | Tg & I A
Section A: Q. No. 1 to 7 carry 1 mark each.
Section B : Q. No. 8 to 16 carry 2 marks each.
Section C : Q. No. 17 to 25 carry 3 marks each.
Section D : Q. No. 26 to 32 carry 4 marks each.
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Section 'A' (@UE - 37)
Find a rational number between -8 and -9.
-8 3 -9 & o * TH IRHG q& A FL
Find the multiplicative inverse of %
% 1 TS Hfaeld F1d Hil

Define linear equation in one variable.

T =X A ae gHieor w1 gl fae
Find the number of dioagonals in a octagon.
forelt smeys o famol =t e fael

Find - 1@ &1 16+ 81

Find the cube of 21.

21 &1 ¥9 9@ H
By how much percent 1800 is greates than 15007
1800, 1500 § fopa wiierd aifers €7
Section'B' (@US - o)
Verify - (X) = x for x = 15
X = '%%ﬁ;rq - (x) = x I Fefad w
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Represent %‘ and B on the number line.

-Z——aﬁx —'gaﬁmmmﬁaﬁaﬁu
Solve &1 &Y - *‘3‘”+x= '1;7"

The sum of two numbers is 95. If ine exceeds the other by 15,

Find the numbers.

 geme FT A 95 B AR TH wen g wen 9 15 Afvw § o

ST i Sd Eixy 125°

In the given figure find x

X §Id H X
/125

Express 49 as the sum of 7 odd nhumbers.

49 =t 7 faom wEet & A % €9 ° el w1
Check whether 100 is a perfect cube or not.
S T 1ooﬁﬁ)§%;ﬁl
Convert the following ratias to percentages.
frfafea srua =t ufaya § s=a| (a) 3:4 (b) 2:3
A man got a 10% increase in his salary. If his new salary is
1,54,000. Find his original salary.
10% 1 gfg T W T =afe w1 3 1,54 000 T 7 S 81 =afw
1 IR AT AT B
Section 'C' (@UE - W)
Solve & &Y - ﬂ+(—_—4)+}—+(j—3—)
7 L9 ) 7 9
The perimeter of a rectangle is 13 cm and its width is 2 % cm.
Find its length.
@ oI e 13 cm # @on <her 2 - om ¥ sm F T
A

Solve - 7a1 ¥ - 6x+1 x—3
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The ratio between exterior angle and interiar angle of a regular
polygon is 1:5. Find the number of sides of the polygon.

T Y TS b S7A:HI0 el amm FI0 w1 AR 115 ¥ AHEgS
& Wonel ® wen 3| |

Find the square root of the following numbers by division method.
TTha fafy | sfge g =¥

(a) 3364 (b) 1369

Find the smallest number by which the number 256 must be
multiplied to obtain a perfect cube.

aF B W B Wem W W fw wen ¥ 256 F 0 HE W a8
T O =T S W

A student used the proportion S e to find 5% 32. What did
the student of wrong? O 22

w foamnedff 32 %1 5% W F * few gaEE M _ 2 g g
feran faenefl =1 7% =& W& o1 o e e =
Find the square root of the following number by repeated
subtraction method.
M ® "okl & N A et
(a) 100 (b) 144
If the cost price of 11 articles is equal to the selling price of 10
articles. Find the gain percent.
Ifz 11 aeqell 1 ®9 Ged 10 oXge & f9hd od & S ' oAl
o yfasrd T |

Section'D' (WUE - §)

Using appropriate property. Find - 3fe@ Ton &1 waiT &% §T I

The digits of a two-digit number differ by 3. If the digits are
interchanged, and the resulting number is added to the original
number, we get 143. What can be the original number?

3 i} AT ww wEn B St 1 N 3 ¥ T WEM F I W
T SR T wE SR @ T T i Sigd W 143 W g 2
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ABC is a right angled triangle and O is the
midpoint of the side opposite to the right angle.
Explain why 0 is equidistant from A,B and C?

ABC % THSHT Bys €1 0 & AC

%7 7&q fag 1 wa¢ 6 0, A,B a1 C ¥
QI H 82

In a right triangle ABC, / =90°

(@) IfAB=6cm,BC=8cm, Find AC

(b) IfAC=13cm, BC=5cm, Find AB
wE B ABC § /= 9(°

(@) 3k AB=6cm, BC=8cm, AC I &l
(b) Ak AC=13cm, BC=5cm, AB 3@ &Il
Find cube root by Factorisation method.
T (AN MEs fafy ¥ 9| #])

(a) 13824 (b)512

The population of a city was 20,000 in the year 1997. It increased
at the rate of 5% P.a. Find the population at the end of the year

2000.
Tk 98T ki SHEEAT 1997 5. H 20,000 aﬁ:wﬁgﬁaﬁs%ﬁﬂ@

gfig & W 21 ad 2000 % oFd ¥ WEX & SEEn aand)

Solve - g1 ®ifST - m——nlz—l*l-—m?3
x—=5 x-3
(b) = '
3 5
o%0 ofo oo




